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RIEE 200,000 61%
W& 10,000 3%
FRE 10,000 3%
’BE 50,000 15%
E i 50,000 15%
R 10,000 3%
BN RIEE 330,000

N RMEE 0

a5t 330,000
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KBNS E-REE = REE LR
LEeflnizald. 330,000-200,000=130,000

pAEdE BERES

RIEE 130,000 50%

i 10,000 4%

FRE 10,000 4%

’RBE 50,000 19%

ESina 50,000 19%

EdiEkes 10,000 4%

RN RIEE 260,000

BN RMEE 70,000

At 330,000
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440 BERRES

RIEE 50,000 5%

i 10,000 1%

FRE 10,000 1%

R’REE 100,000 10%

Z5tr 800,000 82%

AR 10,000 1%

N REE 980,000

N RMEE 0

At 980,000
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X (HEIRRRE-FtH) 0.7+-0.3 =8 LRE

LEEfInEAl%. (980,000-800,000)%0.7+0.3=420,000

EHR BRI

HREE 50,000 8%
RE 10,000 2%
wHRE 10,000 2%
R’BE 100,000 17%
=50 420,000 70%
R 10,000 2%
BN RIEE 600,000

BN RIEE 380,000

a5t 980,000
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